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1. The solution set of the inequation |𝑥| ―1 < 1 ― 𝑥, is
a) ( ― 1, 1) b)(0, ∞) c) ( ― 1,∞) d)None of these

2. If ( 3 + 𝑖)10
= 𝑎 + 𝑖𝑏, then 𝑎 and 𝑏 are respectively

a) 128 & 128 3 b)64 & ― 64 3 c) 512 & ― 512 3 d)None of these

3. The number of real solutions of the equation (5 + 2 6)𝑥2―3
+ (5 ― 2 6)𝑥2―3

= 10, is

a) 2 b)4 c) 6 d)None of these

4. Number of roots of the equation 𝑥 ― 2𝑥 ― 1
= 1 ― 2𝑥 ― 1 is

a) One b)Two c) Infinite d)None of these

5. The smallest positive integer 𝑛 for which (1 + 𝑖)2𝑛 = (1 ― 𝑖)2𝑛 is 

a) 1 b)2 c) 3 d)4

6. If 
𝑧 ― 1𝑧 + 1

 is purely imaginary number (𝑧 ≠ ―1), then |𝑧| is equal to 

a) 1 b)2 c) 3 d)4

7. If one vertex of a square whose diagonals intersect at the origin is 3(cosθ + 𝑖 sinθ), then the 

two adjacent vertices are

a) ± 3 (sinθ ―𝑖cosθ) b) ± (sinθ +𝑖cosθ) c) ± (cosθ ―𝑖sinθ) d)None of these

8. If the sum of the roots of the equation 𝑎𝑥2 +𝑏𝑥 + 𝑐 = 0 is equal to the sum of the squares of 

their reciprocals of their reciprocals, then

a) 𝑐2𝑏,𝑎2𝑐,𝑏2𝑎 are in A.P.

b)𝑐2𝑏,𝑎2𝑐,𝑏2𝑎 are in G.P.

c)
𝑏𝑐,
𝑎𝑏,
𝑐𝑎 are in G.P.

d)
𝑎𝑏,
𝑏𝑐,
𝑐𝑎 are in G.P.

9. In the argand plane, if 𝑂,𝑃 and 𝑄 represent respectively the origin 𝑂 and the complex numbers 𝑧 and 𝑧 + 𝑖𝑧 respectively, then ∠𝑂𝑃𝑄 is

a)
𝜋
4

b)
𝜋
3

c)
𝜋
2

d)
2𝜋
3
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10. If 𝑛 ∈ 𝑍, then 
2𝑛

(1 ― 𝑖)2𝑛 +
(1 + 𝑖)2𝑛

2𝑛  is equal to

a) 0 b)2 c) [1 + ( ―1)𝑛]𝑖𝑛 d)None of these

11. Let 𝛼,𝛽 be the roots of the equation 𝑥2 ―𝑝𝑥 + 𝑟 = 0 and 
𝛼
2

, 2𝛽 be the roots of the equation 𝑥2―𝑞𝑥 + 𝑟 = 0. Then the value of 𝑟 is

a)
2

9
(𝑝 ― 𝑞)(2𝑞 ― 𝑝) b)

2

9
(𝑞 ― 𝑝)(2𝑝 ― 𝑞) c)

2

9
(𝑞 ― 2𝑝)(2𝑞 ― 𝑝) d)

2

9
(2𝑝 ― 𝑞)(2𝑞 ― 𝑝)

12. If 𝜔 is an imaginary cube root of unity, then (1 + 𝜔― 𝜔2)7
 equals

a) 128 𝜔 b) ―128 𝜔 c) 128 𝜔 d) ―128 𝜔2

13. If 𝑧 + 𝑧―1 = 1, then 𝑧100 + 𝑧―100 is equal to

a) 𝑖 b) ―𝑖 c) 1 d) ―1

14.
3 + 2𝑖 sin𝜃
1 ― 2𝑖 sin𝜃 will be purely imaginary, if 𝜃 is equal to

a) 2𝑛𝜋 ±
𝜋
3

b)𝑛𝜋 +
𝜋
3

c) 𝑛𝜋 ±
𝜋
3

d)None of these

15. If 𝑥2 +2𝑎𝑥 + 10 ― 3𝑎 > 0 for all 𝑥 ∈ 𝑅, then

a) ―5 < 𝑎 < 2 b)𝑎 < ―5 c) 𝑎 > 5 d)2 < 𝑎 < 5

16. Let 𝑧1,𝑧2 be two complex numbers such that 𝑧1 + 𝑧2 and 𝑧1𝑧2 both are real, then

a) 𝑧1 = ― 𝑧2 b)𝑧1 = 𝑧2 c) 𝑧1 = ― 𝑧2 d)𝑧1 = 𝑧2

17. If Im (2 𝑧 + 1𝑖 𝑧 + 1
) = ―2, then locus of 𝑧 is

a) A circle b)A parabola c) A straight line d)None of these

18. Let ′𝓏′ be a complex number and ′𝑎′ be a real parameter such that 𝓏2 +𝑎𝑥 + 𝑎2 = 0, then

a) Locus of 𝓏 is a pair of straight lines b)Locus of 𝓏 is a circle

c) arg(𝓏) =±
5𝜋
3

d) |𝓏| = ―2|𝑎|
19. The points 𝑧1, 𝑧2, 𝑧3, 𝑧4 in the complex plane are the vertices of a parallelogram taken in order, 

iff 

a) 𝑧1 + 𝑧4 = 𝑧2 + 𝑧3 b)𝑧1 + 𝑧3 = 𝑧2 + 𝑧4 c) 𝑧1 + 𝑧2 = 𝑧3 + 𝑧4 d)None of these

20. If a real valued function 𝑓 of a real variable 𝑥 is such that 
1

(1 + 𝑥)(1 + 𝑥2)
=

𝐴
1 + 𝑥 +

𝑓(𝑥)
1 + 𝑥2, then 𝑓(𝑥) 

is equal to

a)
1 ― 𝑥

2
b)

𝑥2 + 1

2
c) 1 ― 𝑥 d)None of these
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